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 TAF ICE – SSC- RAILWAY     1                          NUMBER SYSTEM                        

 

PROBLEMS BASED ON  

DIVISIBILITY RULES 
 

1. 
7574737271

55555 ++++ is divisible by which of 

the following number 

øûûôþöüÿõÿõöøýþøõĀÿûúóüô

7574737271
55555 ++++ 

(a) 71    (b) 69 

(c)  89   (d) 73 
 

 

 
 
 
 

 

 

 

 

 

 

2. Which of the following number is NOT divisible 

by 75? 

øûûôøõÿùÿćąÿûúóöþøõøýÿ 
(a) 117975   (b) 275475 

(c) 163750   (d) 666600 
 

 

 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 
 

 
 

 
 

3. If a 10- digit number 75462A97B6 is divisible 

by  72, then the value of √ A8  B4   is: 

 75462A97B6øûõāĀýùòÿøõ÷òÿ

 ûúóüôøÿ√ A8  B4   ûüýùñĊ

(a) 30    (b) 27  

(c) 21    (d) 28  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4. What is the greatest five-digit number that is 

completely by 8,15,16,21 and 5? 

8,15,16,21 øüù5ÿûúóüôôÿùóöòþýýùòÿ
øõÿõÿċ
(a) 92680   (b) 99120 

(c) 95760    (d) 98320 

 
  

 
 
 
 

 
 
 
 
 

 
 

Ans.(c) : From question, 

75 = 25 × 3 

Divisibility of 25 : If number ends with 

00, 25, 50 or 75 then the number is 

divisible by 25. 

Divisibility of 3: If sum of all digits of a 

number is multiple of 3 then number is 

divisible by 3. 

Except option (c), all options follow both 

rules.  

Hence, option (c) is not divisible by 75.  

B =  3 6 736 is divisible by 8. n, Sum of digits =  7 +  5 +  4 +  6 +  2 +  A +  9+  7 +    B +  6 =  49 +  A. Then, A =  5                [6 54 is divisible by 9] 6 A =  5, B =  3. ýĀĀ, √  ⟹  40  12 ⟹  28 
 

Ans.(d) : A number which is divisible by 

72, then it must be divisible by 8 and 9. 

Divisibility Rule of 8 :  

Last three digits of the number should be 

perfectly divisible by 8. 

Divisibility Rule of 9:  

Sum of digits of the number  

must be divisible by 9.  

Must be divisible by 9 

For the 10-digit nmber 75462A97B6, 

Ans (b) : Greatest five digit number = 99999 

LCM of 8, 15, 16, 21 and 5 = 1680 

1680)  99999   (59 

             8400 
 

          15999 
          15120 
              879 

 

Required number = 

(99999-879) = 99120 

Ans.(a) : 571 + 572 + 573 + 574 + 575 

571 (1 + 5 + 52 + 53 + 54) 

571 (1 + 5 + 25+ 125+ 625) 

571 (781) 

571 (71× 11) 

Hence it is divisible by 71. 
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5. If a 10-digit number 54726x79y6 is divisible  

 by 72, then what is the value of 5  3y for 

 the least value of y? 

54726x79y6 øûõāĀùòÿøõćĂÿûúóüô
øÿyûú÷õýþóòôüýùøÿ5  3y û
üýùñÿ

    (a) 17   (b) 16 

    (c) 19   (d) 23 

 

 

 

 

 

 

 

 
 

 
 
 
 
 
 
 
 

 
 
 

 

6. How many number are there from 200 to 800 

 which are neither divisible by 5 nor 7 ? 

 ĂĀĀýĈĀĀ÷öüÿąøüùćÿûúóöþøõÿþ
 øþ÷úóþúÿ

 (a) 410   (b) 407

 (c) 413   (d) 411

 

 

 

 

 

 

 

 
 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

 

7. Which of the following numbers is divisible  

by 3? 

 ÿõÿõóûõþþăýÿûúóüôøõøýÿ
(a) 8703572  (b) 8703593 

(c) 8765001  (d) 8703541 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 
 

8. If the nine-digit number 9m2365n48 is 

completely divisible by 88, what is the value of 

( )22
nm × , for the smallest valur of n, where m 

and n natural numbers? 

þûóýùòÿøõ9m2365n48úýĈĈÿ
÷üòÿûúóüüúÿün ûôÿõôò

üýùñòú ( )22
nm ×  ûüýùñøûúÿ

øúúm üõþô n òÿøõÿþù 
(a) 36    (b)64 

(c) 32   (d) 20 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

 

⟹ 5 +  4 +  7 +  2 +  6 +  ā +  7 +  9 +  3 +  6 = 49 +  ā 

6 �āþ Ąÿýăþ Āÿ ă� –ā� =  ă × ă  ā × ā = ÿĄ 

Ans.(b) : The given number 54726x79y6 

divisible by 72. We can write 72 as 8 x 9. 

By the divisibility rule of 8 

Last three digits of the number 9y6 is 

divisible by 8 if  y = 3 

The 10-digit number 54726x7936 is 

divisible by 9 if the sum of the digit is 

divisible by 9. So, 

For  x = 5, we get the resultant number 

visible by 9. 

n =  l  ad  +  1 , n =  5905  +  1 =  119 Numbers divisible by 7  between  200  to 800 203, 210, 217&&&798 n =  798  2037  +  1 =  86 Numbers divisible by 35  between  200  to 800  210, 245, 280. . & 770. n =  770  21035  +  1 =  17 Hence on removing numbers which are divisible  by both 5 and 7 =  119 +  86 –  17 =  188 �þÿăĂĀþý ÿăþĀþĀ =  ăćć ÿĆĆ =  Ăÿÿ 

Ans.(d) :  

Number divisible by 5 between  200 to 

800 3 205, 210, 215…….795. 

 

8 +  7 +  6 +  5 +  0 +  0 +  13 =  27 3 =  9 

Ans.(c) : 
Rule of divisibility by 3 – If the sum of the 

all digits of the given number is exactly 

divisible by 3 then thant number will be 

divisible by 3. 

From option (c)  
 

Hence the number 8765001is exactly 

divisible by 3. 

= ÿĄ ×   Ă =  ĄĂ. 

Ans.(b) :  

The given number 9m2365x48 is divisible 

by 88. We can write 88 as 8  ×  11. 

By the divisibility rule of 8, we have n48 is 

divisible by 8. 

For n = 2 (smallest value of n),we get the 

resultant number divisible by 8. 

And for n = 2, we will check the divisibility 

of 11. ⇒(9 + 2 + 6 + 2 + 8) 3 (m + 3 + 5 + 4) ⇒27 3 m -12 ⇒15 – m 

For m = 4, we get the resultant number 

divisible by 11. 6The value of (m2x n2)  = 42 × 22 



TAF ICE ACADEMY             ICE - Institute Of Central Exams 
 

 TAF ICE – SSC- RAILWAY      3                              NUMBER SYSTEM                     

9. If 8A5146B is divisible by 88, then what is the 

value of AB? 

8A5146BøûõøõĀúýûýüÿĈĈÿ
ûúóüôüóýABýûüýùñÿ
(a) 15   (b)12 

(c) 9    (d) 20
 

 

 
 
 
 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 

 

10. If 8A5146B is divisible by 88, then what is the 

value of 
B

A ? 

8A5146BøûõøõĀúýûýüÿĈĈ

ÿûúóüôüóý B
A ýûüýùñÿ

(a)  27   (b) 64 

(c)  81   (d) 12 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 

11. If a nine digit number 468x5138y is divisible 

by 72, then the value of yx 34 + is : 

468x5138y øûõĉùòÿøõĀúýćĂÿ

ûúóüôøÿ yx 34 + ûüýùñ

(a)  8   (b) 9 

(c) 12   (d) 6 
   

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

12. Find the greatest number 234a5b, which is 

divisible by 22, but NOT divisible by 5. 

ĂĂÿûúóüô234a5bøûõôÿùóöò
øõ÷Āÿõöôòôüúÿöýþøõąÿ
ûúóöýþ
(a) 234058    (b) 234850 

(c) 234652  (d) 374151
 

 

 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

=  (8 +  5 +  4 + 4) – (A +  1 +  6) =  21– A–7 =  14–  A. For A =  3, we get the resultant number divisible by 11. 6  �āþ Ąÿýăþ Āÿ  ýþ =  ā ×  Ă =  ÿĀ. 

Ans. (b) : The given number 8A5146B is 

divisible by 88, so it must be perfectly 

divisible by both 8 and 11.By the 

divisibility rule of 8, we have 46B is 

divisible by 8. 

For B = 4, we get the resultant number 

divisible by 8.  

And  for B = 4, we will check the 

divisibility of 11. 

Ans. (c) : The given number 8A5146B is 

divisible by 88, so it must be perfectly 

divisible by both 8 and 11.By the 

divisibility rule of 8, we have 46B is 

divisible by 8. 

For B = 4, we get the resultant number 

divisible by 8. And  for B = 4, we will 

check the divisibility of 11. 

= (8 + 5 + 4 +4) 3 (A + 1 + 6) 

= 213A37= 143 A. 

For A = 3, we get the resultant number 

divisible by 11. 6The value of  AB = 34 = 81. 

⇒  4 ×  6 + 3 × 4 ⇒  36 ⇒ Ą 

Ans. (d) : Since the number 468x5138y is 

divisible by 72 then it must be divisible by 

both 8 and 9. 

If any number is perfectly divisible by 8, 

then last three digits should be divisible 

by 8.  6For y = 4, 384 is divisible by 8. 

Again, if any number is perfectly  divisible 

by 9 then the sum of  its digits must be 

divisible by 9. ⇒4 + 6 + 8 + x + 5 + 1+ 3+ 8 + 4 ⇒39 + x ⇒x = 6 [45 is divisible by 9] 

Now, 4ā + 3y 
 

234a5b22 = 234a5b 2 ×  11 
Ans, (c) : 

Divisibility rule of 2→ A number whose 

unit digit is 0 or even number.  5b2 →-
52 2= 26⇒ b = 2 

Divisibility rule of 11→ The difference of 

sum of even and od places should be 

zero or multiple of 11. 6(2 + 4 + 5) 3 (3 + a + b) = 0 ⇒11 3 5 3 a = 0  ⇒ 6 3 a = 06a = 6 

Hence, the greatest number – 234652. 
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PROBLEM BASED ON BODMAS 
 
1.    –       {          }      

(a)   54   (b)   -54 

(c)   -44   (d)   44 

 

 Ans, b : 24 – [52 - {          }] 
= 24 – [52 – {    }  
= 24 – [52 + 26] 

= 24 – 78 

= - 54 

 

2. The   value    of      –                               is : 

(a)   21.8   (b)   18.4 

(c)   5.8   (d)    15.6 

 

 Ans. (c) :     –                                   –                       –                

 

3. The value of :                             –     

(a)   22   (b)   16  

(c)   20        (d)   18 

 

 Ans : (a) :                          –     

                         –     

                  –               –           
 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. Simplify: [(                )      ]  (                  )         

(a)   
       (b)       

(c)   
       (d)  

    
 

Ans.(d) : Simplify - [(                )      ]  (                  )             [(              )      ]  (                )       

  [(              )      ]  (           )       

 [       ]  (                ) 

           

                  

 
 

5. What should come in place of the question mark 

(?) in the following questions?               –        –                

(a)  7    (b)  8   

(c)  10            (d)  9 
 

Ans : (d)  6   6   9 + 6 – 9   6 – 6 + 6   9 = ? 

 = 1   9 + 6 – 54 – 6 + 54 

 = 9 + 6 – 6 – 54 + 54= 9 
 

 

 

6. Find the value of the following expression :                                    
(a) 7.06 (b) 7  (c) 7.33     (d) 6.73 

 

Ans : (c)                                       
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7.  What  is  the  value of p, if                          –            

 (a)  72   (b) 69 

 (c)  15      (d) 17    
 

Ans : (d)  25 (3 + 4P)   12 of 5 – 3   8 = 6 

25 (3 + 4P)   60 – 24 = 6                                                                                     

 

8. Find the value of the following expression :                              [       (    )   {    (      )}] 
(a) - 

     (b)  
    

(c)  
      (d) -

    

Ans. (a)                              [       (    )    {    (      )}]                           [      (   )    {        }] 

                  [      (   )    (        )] 

                [        (        )] 

                [              ]  
          [          ]                    

 

 

 
 

 

9. Find the value of the following expression :                   

(a)  
      (b)   

     

(c)  
      (d)   

   
 

Ans.(a) From question,                               

            

 

10. The      value      of [    {    (      )}]                                    (      )      
(a)  

        (b) 
      

(c)  
        (d) 

      

 

Ans. (c) The given expression is – [    {    (      )}]                                    (      ) 

 [    {       }]                                        
  [      ]                                                                                                         

                 

               

                    

 

11. Find the value of 15 + 6.3   7 – 3   1.3 – 2 is: 

(a)  9  (b) -10  (c)  10        (d)  7 
 

Ans. (c): 15 + 6.3   7 – 3   1.3 – 2 

= 15 + 0.9 – 3.9 – 2 = 15.9 – 5.9  

=10 
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12.                                                 
(a)   

      (b) 
    

(c)   
      (d) 

    

 

Ans. (a)                                                   

 

13. The   value   of         [                    {        (          )}] 
is 

(a)   
       

(b) - 
    

(c)  - 
      

(d)   
    

 

Ans . (b) From Question, 

        [                    {        (          )}] 
         [              {       (        )}] 
         [             {       (           )}] 
         [          {       (        )}] 
         [      {           }] 
                                

            

 

 

 

14. Simplify the following expression :                                                        

(a)   
        (b)       

(c)         (d)      
 

Ans. (c)                                                        

                                                 

                          

                                           

                 

 

15. The value of 

       (        )                             is : 

(a)  
       (b) 

    

(c)  
       (d) 

     

 

Ans. (d) :          (        )                        
         (       )                       
                                   
                                  
                                   



 

 

 

 
 


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PROBLEMS BASED ON PROGRESSION 

1. Evaluate :
                     

üýùø                       
(a)

      (b) 
    

(c) 
      (d)  

     
 

 

 

 

 
 

 

 

 
 

2. If P =                     and  

Q =  +           , then what is the value of 

P – Q? 

P =                          üõþô  

Q =  +            ,  øÿü P – Q û

üýùñøûúÿ

(a)   24645   (b)  26075 

(c)   29317   (d)   31515 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

3. What is the sum of 1
   +4 

   + 7
   + 10

    + ….. 

upto 20 terms? 

1
   +4 

   + 7
   + 10

    +……….... ĂĀþùñÿùû

ýòþö÷ÿøûúÿ

(a) 12410/21  (b)  12412/21 

(c) 1243321  (d)  1179/2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4. If (  ⁄  ) + (  ⁄  )   (  ⁄  )  ….+ (  ⁄   )  = 1/k, 

then what is the value of k? (  ⁄  ) + (  ⁄  )   (  ⁄  )  ….+ (  ⁄   )  = 1/k, 

øûõöÿkûüýùñøûúÿ

(a) 512/511  (b) 1024/1023 

(c) 511/512   (d) 1023/1024 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     3    3         3 

=     3 2      2  7   7 2      2        2   3  
=     3 2   3 =   ×   3 = ��� 

Ans (d): 

=  3         7      3              

Ans (b):P =                     Q =               . 
According to the question, P 2 Q =     2        2         2         2  3  &     2                  . 
7 a = 3 , d =   , ý =   3 , n = ?.   3 = 3   n 2     , n ⟹   . SUM =       × 3     2                      =  7 3  73          3 =    7 . 

                  =  k 

7    r   r     rn = a  2 rn  2 r      2   10  2   =  k ,  2     =  k 

   3    =  k 

k =        3 

Ans (b): 

            7              &     =      7    &       āþÿþĀ                       āþÿþĀ �� = ÿ   �   ÿ 2   ý  
=          3     ×      × 3   3 ×  &       ×    =         ×     
=         =         

Ans (a): 
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5. What is the value of    +       + …. +3  ?     +       + …. +3   üýùñÿöõÿÿ 

(a)  134576    

(b)  120212 

(c)  1154624   

(d)  111672  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

6. What is the value of      7      …..    ?      7      …..    üýùñÿöõÿÿ 

(a)  4325    

(b) 4465 

(c)  4105    

(d) 4285 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7. What is the sum of all natural numbers between 

100 and 400 which are divisible by 13? 

āăÿûóôāĀĀòôĄĀĀòô÷öùóòö
÷úýòÿøõÿùûýòþö÷ÿøûúÿ

 (a)  5681   (b) 5334 

 (c)  5434   (d) 5761 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

PROBLEMS BASED ON ARITHMETIC 

AND GEOMETRIC PROGRESSION 

 

8. Find the sum of 6 + 8 + 10 + 12 + 14 + …. + 40 

ĆûĈûāĀûāĂûāĄûþþþþûĄĀòûõôûýò
þö÷ÿ÷òòÿöõÿÿ
(a) 424   (b) 1600 

(c) 400   (d) 414 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

9. The value of 1+3+5+7+ ….. (2n-1) is: 

āûăûąûćûþþþþþøĂnýāùûüýùñĊ 
(a) (2n-1) ×(2n-1)  (b) n × n 

(c)  
     (d) 

        

 

=   n n       
              3   =             2            =      ×     2     × 7   

Ans (d): 

The sum of cubes of even numbers 

Where n = Total number of terms. 

=   3 ×   ×   ×   2   × 7 ) =  ×      ×   2 7  . =  ×      ×   2    . = 7      2    . = 7       =     7 . 

= n n      n      

=        3        2        3                    ×      2            ×       

=   ×   ×    2   ×   × 3   =     2     ⇒      

Ans (d):  

Sum of square of n numbers 

6Required sum 

Ans (d): According to question,                  .    n 2   ×  =   .  n 2  = 3 . n =   . 

Hence, the sum of AP = n  a  l . =  8       . ⇒  ×   =    . 

 

n =  ý 2 ad     

=  3  2     3     

=     3    =      n =  3 Sn = n  a 2 ý  

=  3 ×      3     3 ×    =      

Ans (a): Number divisible by 13 between 

100 and 400 are 104, 117, 130, ………390. 
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10. What is the sum of first 40 terms 

1+3+4+5+7+7+10+9+….? 

āûăûĄûąûćûćûāĀûĉûþþþÿøûõþöööûøþÿĄĀ
þùñÿùûýòþö÷ÿøûúÿ  
(a)   1010   (b) 1115 

(c)   1030   (d) 1031 

 

 

 

 

 

 

 

 

 

 

 

 
 

11. How many numbers less than 350 are multiples 

of both 4 and 3? 

ăąĀòþĄüõþôăòûõøõÿùû
üöúÿþøþ÷úþñúÿ
(a)   29   (b) 31 

(c)   30   (d) 28 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

12. What is the sum of all natural numbers between 

1 and 200 which are multiples of 5? 

ąûüöúÿöúāüõþôĂĀĀò÷öüÿ
þ÷úýòÿøõÿùûýòþö÷ÿ
øûúÿ
(a) 3900   (b) 4100 

(c) 4155   (d) 4235 

 

 

 

 

 

 

 

 

 
 

13. How many multiples of 5 are there from 1 to 

200 which are not multiples of 4? 

ĄûüöúÿþÿùöþāøþÿĂĀĀû÷û
ąûüöúÿöÿþøõÿþøþ÷úþ
(a) 40   (b) 30 

(c)  25   (d) 35 
 

 

 

 

 

 

 

 

 

 

 

 

 

14. How many multiples of 6 are there from 1 to 200 

which are not multiple of 4? 

ĄûóòÿÿÿùöþāøþÿĂĀĀû÷ûĆû
üöúÿþøþ÷úþúÿ
(a)  16   (b) 17 

(c)  19   (d) 15 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

Ans (b):   3    7     n 2    
7The given number series is in AP. d = 3 2  =  . 

n = number of terms. 

a = first term 

d = common difference 

Sum = n  a  ý . = n     n 2   = n × n.  

=      7      3   upto    terms   

=      ×      2   × 3           2   ×    

Ans (c):   3      7  7       … up to 40 

terms. 

 3    7     upto    terms . 
=       7       3  . =        =   3 . 

Ans (a): LCM of 3 &  =   . 

Numbers less than 350 which are 

multiplies of 3 &  .    ,    , 3  ,    , & , 3  . 

In AP a =    , d =    tn = 3  . 

Numbers of terms = n. 6 a   n 2    d = tn.     n 2      = 3  .      n 2   = 3  .   n = 3  . 

Hence, the number of such terms =    

Trick: 

LCM of   & 3 =   .      = Quotient =    

Hence, required numbers =   . 

= 3         = 3  ×    = 3    

Ans (a): Numbers which are multiples of 5 

between 1 and 200 = 5, 10, 15,… , 195. 
The given series is in A.P. 

Where, a =   , n = 3  , ý =    . 

Hence sum = n  a  ý . (where l = last term) 

     =    

Ans (b): Trick:     =    Which denotes the total number 

of factors of 5 terms from 1 – 200 

In 40 numbers, the numbers which are 

multiples of 4, and 5 both LCM of 4 and 5 

= 20 

Hence, required numbers =    2    = 3  

Ans (b): Multiples of 6 from 1 to 200  n  =    2    . = 3   = 33. 

LCM of 6 and 4 which means number of 

multiples of 12  n   . =    2      . =  8     . =     . =   . 

Numbers of multiples which are multiples 

of 6 but not multiple of  = n 2 n  . = 33 2   ⇒  7. 



 

 
 

 

 

 

 

 

 


TAF ICE – SSC- RAILWAY     95                                       LCM & HCF              

PROBLEMS BASED ON L.C.M  

1. Which is the largest six digit number,   which 

divided by 12,15,20,24 and 30 leaves the 

remainder 8,11,16,20 and 26 respectively: 

ñòñõòðòôüõþôóðÿûúýþöÿúýø÷õüò
øñññöòðüõþôòöþ÷öòÿòýýòôÿùóöò
ôùòÿøõÿöõÿ
(a)  999960   (b) 999964 

(c)  999982   (d) 999956  

 
 
 
 
 
 
 
 
 
 

 
 
 

2. Find the smallest number which should be 

added to the smallest number divisible by 6, 9 

and 15 to make it a perfect square. 

öùüõþôñõÿûúùóüôôÿõôòøõòöûøýþ

ôÿÿõôòøõ÷Āòýòüôüóöýöýþûüòÿ

øõĀöÿö÷üõô

(a)  10    (b) 9 

(c)  19     (d) 21 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

3. What is the LCM  of 3.6,1.8 and 0.144? 

óöñøüõþôðñôôûúõüÿöõÿ

(a)  3.6    (b) 36 

(c)  3600   (d) 360 

 
 

 
 
 

 

 

 

 

 

 

 

4. A and B are two prime numbers such that A>B 

and their LCM  is 209. The value of A
2

-B is : 

AüõþôBþòóÿöøõÿþøöþöûýA>Bù

üõþôöûõôûúõüòðùøÿA2
-Bû

üýùñÿöõÿ

(a)  350     

(b)  372 

(c)  361    

(d)  339 

 
 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                          

Ans.(d) :  

12 – 8 = 4, 15 – 11 =4, 20 – 16 =4,24 – 20 = 4, 

30 – 26  = 4 

LCM of 12, 15, 20,24 and 30 = 120. 

The required number = 120k – 4  

For the largest six digit number 

Ans.(a) : LCM of 6,9 and 15 = 90 

From given number `0 is only smallest 

number which should be added to make it a 

perfect square. Then, 90 + 10 = 100 

Number 100 is a perfect square number. 

                                              

Ans.(a) : LCM of 3.6, 1.8 and 0.144   LCM (3600, 1800, 144)/1000  LCM of 3600, 1800, 144 = 3600 

                                

Ans.(a) : Given that-  

Two prime number = A, B 

LCM of number = 209 

According to the question,   HCF of two prime number = 1   Product of number = LCM   HCF 

Where, A = 19 { A>B}, B = 11  A2 – B = 192 – 11 =361 – 11 = 350; 

Hence, option (a) is correct. 
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5. The sum of two number is 50 and their product 

is 525. The LCM of the two numbers is: 

ûõüøõÿùûýòüýþö÷ÿõðüõþôöûõôû

óòÿõóùûõòõøÿöóøõÿùû

úõüÿöõÿ

(a)  85     (b)  105 

(c)  115    (d)  125 

 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

6. LCM of 
   ,

  , and 
      is :      üõþô

     þòûõôûúõüÿöõÿ

(a)  8.3    (b)  3.6 

(c)  4.8    (d)  5.2 

 

 

 

 

 

 

 

 

 
 

7. Find the smallest number such that when it is 

divided by 5,6 and 8 it leaves a remainder 3 in 

each case. 

õöüõþôøÿûúòÿùóüôüóöýø÷õüòúýóþ
þôôÿÿõôòøõ÷Āòÿõöôòô 
(a)  243    (b) 123 

(c)  117   (d) 792 
 

 
 
 

 

8. Find the least number which when divided by 

12,18,24 and 30 leaves 4 as remainder in each 

case, but when divided by 7 leave no remainder?  

ñòñøòôüõþôóðÿûúòúôüóöýôþúýòöÿô
úöÿ÷ÿûúòúôüóöýúýüÿùöüÿ
òÿòýýòôÿÿõôòøõøýÿ
(a)  366   (b) 634 

(c)  384   (d) 364 

 
 
 
 
 
 

9. What is the smallest integer that is divisible by 

3,7 and 18? 

ó÷üõþôñøûôÿÿõôòøÿøõüöúúÿöõÿ 
(a)  72     (b) 126 

(c)  252   (d)  63 
 

 
 
 
 
 
 
 
 

 

10. What is the smallest integer that is multiple of 

5,8 and 15? 

õøüõþôñõûôÿÿõôòøÿøõøûüöúú

ÿöõÿ

(a)    40     

(b)   60 

(c)   600    

(d)  120 

 

 
 
 
 

 

 

 

 

 

 

 

 

                                  

          
Ans.(b) : Intended LCM   

 

Ans.(d) : The numbers are 12, 18, 24 amd 30 

Their LCM = 360. 

Hence, the number = 360 + 4  = 364 

Ans.(b) : LCM of 5,6 and 8 =                 

       = 120 

               Required number = 120 + 3 = 123. 

 

Ans.(b) : LCM of 3, 7 and 18 = 126  126 is the smallest integer that is divisible 

by 3, 7 and 18. 

Ans.(d) : LCM of 5, 8, 15 = 120  120 is the smallest integer that is divisible 

by 5, 8 and 15. 

Ans.(b) : Let the numbers be x and y 

respectively. According to the question, 

x  + y   = 50……….(i) 

xy = 525 

(x + y)2 – 4xy    =  (x – y)2 

(50)2 – 4 x 525 =  (x – y)2 

2500 – 2100    =  (x – y)2 

            (x – y)2  =  400 

             x – y     =  20……(ii) 

From equation (i) and (ii), 

x + y = 50 

x - y  = 20 

2x     = 70 =  x = 35 

On putting the x = 35 value of x in equation 

(i). 

y = 50 – 35  y = 15 

LCM of 15 and 35 

3 15, 35 

5   5, 35 

7   1, 7 

   1, 1 
 

= 3   5   7 = 105 
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11. When 12,16,18,20 and 25 divide the least 

number x, the remainder in each case is 4 but 

x is divisible by 7. What is the digit at the 

thousands’ place in x? 

ñòñöñøòðüõþôòõþòûõõöÿø÷õüòXþ

ûúýþöÿúýôþþõýúöÿXúý÷ÿ

ûúùóüôXÿóþñüûôùòúöýýÿóþñ
ùòÿôøûúÿ
(a)   4    (b)   3 

(c)   5    (d)   8 
 

 
 
 
 

 

 
 
 

12. Let x be the least number which when divided 

by 15,18,20 and 27 the remainder in each case 

is 10 and x is a multiple of 31. What least 

number should be added to x to make it a 

perfect square? 

Xøûóýñõñøòðüõþôò÷ÿûúòúôüóöýúý

ø÷õüòñðúôXøûóýóñûüöúúúô

XþøÿûüòÿüöÿüöõõXóöûýòöüûõýò
ôÿÿõôòøõøýÿ
(a)   36   (b) 39 

(c)   37   (d) 43 
 

 

 

 

 

 

 
 
 

 
 

13. Five bells ring together at the intervals of 

3,5,8,9 and 10 seconds. All the bells ring 

simultaneously at the same time. They will 

again ring simultaneously after: 

þýýüøÿþóõøùüõþôñðóúöýÿþ
÷öûùüÿþÿøÿùñþûõúö÷ûö÷úýýô
þúôùøòöüõûýýÿþûõöÿþÿøÿùóý
ýûúþúöÿøûñüõûôÿñýýúõüôþÿ
øÿùñôÿ
(a)   8 minutes   (b)   9 minutes 
(c)   6 minutes  (d)   4 minutes 

 

 

 

 

 
 

 

14. How many numbers between 300 and 700 are 

divisible by 5,6 and 8? 

óððüõþô÷ððòú÷öùóòöøýþ÷úøõÿþõö
üõþôøÿûúùóüô 

(a)   5    (b)   2 

(c)   20    (d)   3 
 

 

 

 

 

 

 

 
 

 

 
 

15. What is the sum of the digits of the least 

number which when divided by 15,18 and 36 

leaves the same remainder 9 in each case and 

is divisible by 11? 

ñõñøôõþôóöÿûúòúôø÷õüòúýùúô

øüùññÿúýüûôûúóüôôÿÿõôòøõøû

ùòÿúÿùûýòüýþö÷ÿÿöõÿ

(a)  17   (b) 16 

(c)  18   (d) 15 

) 

 

 

 

 

 

 

 

 

 

 

 
 

 

16. How many numbers between 400 and 700 are 

divisible by 5,6 and 7? 

ôððüõþô÷ððòú÷öùóòöøýþ÷úøõÿþ

õöüõþô÷ÿûúùóüôÿ 

(a)   5    (b) 20 

(c)   2   (d) 10 
 

 

 

 
 

 

 

 

 

 

 

 

 

Ans.(d) : LCM of 12,16,18, 20 and 25 = 3600  x = 3600 k + 4 

For k = 5, the number will be divisible by x = 7. 

x = 18004, 

Hence, the digit at the thousand’s place will 
be 8. 

 

Ans.(b) :  LCM of 15, 18, 20, 27 = 540.   x = (540 k + 10) 

On putting k = 4. 

x = 540   4 + 10 = 2170 

Hence, it’s nearest square = 47   47 = 2209  The number to be added to make x a perfect 

square = 2209 – 2170 = 39. 

 

                           
Ans.(c) : Again the bells ring simultaneously 

after = (L.C.M of 3, 5, 8, 9 and 10). 

= 360 seconds. 

 

Ans.(d) : The number divisible by 5,6 and 8 

= (L.C.M of 5,6 and 8)   k. = 120 k. 

The numbers between 300 and 700 = (120   

3), (120   4), (120   5) = 360, 480, 600. 

Hence there are three numbers (360, 

480,600) between 300 and 700 which is 

divisible by 5, 6 and 8) 

                     

Ans.(C) : The least number = (L.C.M of 15, 

18,36) x + 9(.  (180x + 9) is divisible by 11).  On taking x = 6, Number = 180 x 6 + 9 = 

1089. 

Sum of the digits of the number  

 

Ans.(d) : LCM of 5, 6, 7 = 210. 

Multiple of 210 = 210, 420, 630 , 840………. 

Hence there are only two such numbers 

which are lies between 400 and 700 which 

are divisible by 5, 6, 7. 
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17. The least number which is exactly divisible by 

4,5,8,10 and 12 is : 

ôõøñðüõþôñòÿúýüûôûúóüôôÿÿõôò
øõÿöõÿ
(a)  150   (b) 180 

(c)  120   (d) 240 

 

 
 

 

 

 
 
 
 
 
 

 
 
 

 
18. The least number which is exactly divisible by 

5,6,8,10 and 12 is: 

õöøñðüõþôñòÿúýüûôûúóüôôÿÿõôò
øõÿöõÿ
(a)   180   (b) 240 

(c)   120   (d) 150 
 

 

 

 

 

 

 
 

19. What is the least number which when divided 

by 15,18 and 36 leaves the same remainder 9 

in each case and is divisible by 11? 

ñõñøüõþôóöÿûúòúôüóöýø÷õüòúý
ùþõôññÿúýüûôõôûúóüôôÿÿõôò
øõòöýÿ
(a)  1089   (b) 1080 

(c)  1071   (d) 1269 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

20. Let x be the least 4-digit number which divided 

by 2,3,4,5,6 and 7 leave a remainder of 1 in 

each case. If x lies between 2800 and 3000, 

then what is the sum of the digits of x? 

Xøûõøõ÷Āòóôõöüõþô÷ÿ
ûúòúôüóöýø÷õüòñúþôþ÷öòþõýXúý
òøððüõþôóðððòú÷öüÿóþñþôùòÿ
øõĀöÿýþöÿXûùòÿúÿùû
ýòüýþö÷ÿøûúÿ 

(a)  13  (b)  16  (c)  12         (d)  15 
 

 

 

 

 

 

 
21. Let x be the least 4-digit number which divided 

by 2,3,4,5,6 and 7 leave a remainder of 1 in 

each case. If x lies between 2000 and 2500, 

then what is the sum of the digits of x? 

Xøûõøõ÷Āòóôõöüõþô÷ÿ
ûúòúôüóöýø÷õüòñúþôþ÷öòþõýXúý
òðððüõþôòõððòú÷öüÿö÷üõôþô
ùòÿøõøÿXûùòÿúÿùû
ýòüýþö÷ÿøûúÿ
(a)   9  (b)   15  (c)   10      (d)   4 

 

 

 

 

 

 

 

 

 

 
 

 

22. Let x be least number divisible by 13, such that 

when x is divided by 4,5,6,7,8 and 12 the 

remainder in each case is 2. The sum of the 

digit of x is: 

Xøûõøõ÷Āñóÿûúòúôüóöýúýüûôõô

Xþôõö÷øüõþôñòÿûúýþöÿþûö

úýòþ÷öòúôøÿXûùòÿúÿùû
ýòüýþö÷ÿÿöõÿ
(a)   8    (b) 10 

(c)  11   (d)   9 
 

 

 

 

 

 

 
 

Ans.(c) : LCM of  4, 5, 8, 10 and 12. 

4 = 2   2 

8 = 2   2   2 

10 = 2   5 

12 = 2   2    3  

L.C.M                       

Hence it is clear that 120 is the least 

number which is exactly divisible by 4, 5, 8, 

10 and 12. 

Ans.(c) : The least number which is exactly 

divisible by 5, 6, 8, 10 and 12 will be the 

L.C.M. of the given number. 

L.C.M = 8   5   3 = 120 

  

Ans.(a) : L.C.M of 15, 18 and 36 

15 = 3   5 

18 = 2   3   3 

36 = 2   2   3   3 

LCM = 180 

Required number = 180 k + 9 

                       180   6 + 9 = 1089 

Hence, on putting k = 6, the number is 

divisible by 11. 

Ans.(b) : LCM of 2, 3, 4, 5, 6 and 7 = 420. 

Hence x = 420   k + 1. 

x = 420   7 + 1 = 2941. (on putting k = 7). 

Hence the sum of the digits of   

x = 2 + 9 + 4 + 1=16. 

                                                  

Ans.(d) : LCM of 2, 3, 4, 5, 6 and 7 = 420. 

Hence x = 420   k + 1. 

According to the condition 

The value of x lies between 2000 and 2500 

on putting k = 5.   x = 420   5 + 1 = 2101. 

 

Ans.(c) : LCM of 4, 5, 6, 7, 8 and 12 = 840. 

Hence, x = 840k + 2.   The number is exactly divisible by 13. 

On putting k = 3. 

So the required number = 840   3 + 2 = 2522.   Sum of digits = 2 + 5 + 2 + 2 = 11. 
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1. PROBLEMS BASED ON AVERAGE OF CONSECUTIVE NUMBERS SIMPLE 

PROBLEMS BASED ON AVERAGE 

1. The average of five numbers, given in a 

particular order, is 32. The average of the first 

three numbers is 28, while that of the last three 

numbers is 34. What is the average of the first 

two numbers? 

þýýøõÿùûôûöôöăĂöýÿøþÿúûþ
øõÿùûôûöôöĂĈüõþôÿ÷öõúûþ
øõÿùûôûöôöăĄøýÿøþÿøõÿùû
ôûöôöÿöõÿÿ
(a)  29   (b) 30 

(c)  27   (d) 28 

 

 

 

 

 

 

 

 

 

 
 

 

2. If the average of n quantities is P and the 

average of m quantities is Q , then the average 

of (m+n) quantities is: 

8n9øõÿùûôûöôöpüõþômøõÿùûôûöôö

Qøýÿøm+nùøõÿùûôûöôöÿöõÿÿ

(a) 
           (b)  

         

(c) 
           (d)  

         

 

 

 

 

 

 

 

 

3. Three positive numbers are in the ratio 2:3:4. 

The sum of their squares is 2349. The average 

of the first two numbers is: 

úûþô÷ÿøõÿùûóþþôø÷õüòĂĊăĊĄ
üõþôöûõôûûüòÿúÿùûýüþÿø÷õüò
ĂăĄĉøýÿøþÿøõÿùûôûöôöÿöõÿþ
(a)  36   (b) 27.5 

(c)  18    (d) 22.5 

 

 

 

 

 

 

 

 

 
 

 
 

4. The average of 46 numbers is 50.5.  the average 

of the first 25 numbers is 45 and that of the 

last 18 numbers is 56. The  28th number is 67. 

If the 26th and 27th numbers are excluded, then 

what is the average of the remaining numbers? 

ĄĆøõÿùûôûöôöąĀþąúôþøþÿĂąøõÿùû
ôûöôöĄąüõþôÿ÷öõāĈøõÿùûôûöôöąĆü
öûõôÿĂĈûýøõĆćüøýÿĂĆüõþôĂć
ûýøõ÷ĀĀòþúöÿúþøþøõÿùû
ôûöôöÿöõÿþ
(a)  51.5    (b) 50.4  

(c)  50            (d) 51 

 

 

 

 

 

 

 

 

 

 

⇒ ý3 + ý4 + ý5 = 102 

⇒ ý1 + ý2 + ý3 + ý4 + ý5 = 160 ⇒ ý1 + ý2 = 160 2 102 ⇒ ý1 + ý2 = 58 6 Average of first two number = ý1 + ý22 = 582 = āĈ 

Ans (a): Let the 5 numbers be ý1, ý2, ý3, ý4, ý5 
Sum of last three numbers = 34 × 3 

Sum of five numbers = 32 × 5 

Ans (d): 7Average of n quantities = P 

6Sum of n quantities = nP 

Again, Average of m quantities = Q 

Sum of m quantities = mQ 

Average of  m + n  quantities = Āÿ ÿĀÿ Ā  

Average of first two numbers =  2ý + 3ý 2 = 5ý2  = 5 × 92 ⇒ āā.Ą 

Ans (d): Let three positive numbers are 2x, 

3x, and 4x respectively. 

According to the question, 4ý2 + 9ý2 + 16ý2 = 2349. 29ý2 = 2349. ý2 = 81. ý = 9. 

Average of remaining numbers = 2323 2 12344 = Ąÿ 

Ans (c): Sum of all 46 numbers = 46 × 50.5 = 2323 

Sum of first 25 numbers = 25 × 45 = 1125. 

Sum of last 18 numbers = 18 × 56 = 1008. 

Sum of 26th, 27th, and 28th numbers  = 2323 2 1125 2 1008 = 190. 
According to the question, 

26th +27th +28th = 190 
26th + 27th = 123 
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5. There are 3 groups of persons – male,female 

and children. There are 20 males and the 

number of females and children taken together 

is 4 more than that of the males. The average 

weight of males is 54kg, that of females is 49 

kg, and that of children is 30kg. If the average 

weight of the whole group is 48.25kg, then 

what is the difference between the number of 

females and the number  of children?. 

þýòöýÿõüøóõüõþôú÷ý÷þÿþ
óþúüþõÿùûøõøò÷ÿĂĀüøóõÿþ
üõþôú÷ý÷þÿþøõøò÷ÿõÿ÷óö
öûúüóüöýÿôþõÿùûôûöôöø÷öąĄ
þüùöþûöôøóõÿùûôûöôöø÷öĄĉþüùöþûöô
ú÷ý÷þÿùûôûöôöø÷öăĀþüùöþûöôþøüöþ
ýòöýûôûöôöø÷öĄĈþĂąþüùöþûöôøýÿ
øóõÿþüõþôú÷ý÷þÿùûøõøò÷ÿüû
óýòöôôÿöõÿÿ
(a)  17    (b) 10 

(c)   7    (d) 14 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

6. The average of nine 2-digit numbers is 

decreased by 6 when the digits of one of the 2 

digits numbers is interchanged. Find the 

difference between the digits of that number. 

þûóýûõüùòÿøõÿùÿþûõüùòÿ

øõøûöüýùñÿ÷üöõþôüóöýöþû

ôûöôöĆú÷õþõýøýÿöýþþûõüùòÿ

øõøûøõÿóòú÷öüùöúóýòöôô

ÿöõÿÿ

(a) 4        

(b) 2 

(c) 6     

(d) 8 

 

 

 

 

 

 

 

 

 
7. The average weight of A, B and C is 55 kg. The 

weight of C is 10kg more than  A and 5kg more 

than B. the average weight of A,B,C and D, if 

D9s weight is 19kg more than C, is: 
A, B, C üûôûöôöø÷öõõþüùöþûöôCûø÷ö

A ÷òóöñðþüùöþûöôöýÿôüõþôBþóö

ąþüùöþûöôöýÿôþDûø÷öCþóöñùþüùö

þûöôöýÿôøýÿA, B, CüõþôDûôûöôö
ø÷öÿöõÿ
(a)  61kg   (b) 58kg 

(c)  62kg    (d) 60kg 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 
 

 

8. The average of 39 numbers is zero. How many 

of those numbers can be greater than zero? 

ăĉøõÿùûôûöôöø÷öÿû÷òôøýÿöûõôÿ
øþ÷úøõÿþÿû÷ò÷þóööýÿüöÿ
òúôÿ
(a)  0     (b)  38 

(c)  20    (d)  39 

 

 

 

 

 

 

 

 

 54 × 20 + 49ý + 30þ = 48.25 × 44 1080 + 49ý + 30þ = 2123 

= ý = 17 , y = 7 

Ans (b): Let the number be females = ý 

And, the number of children = y 
According to the question, ý + y = 24  … (I) 

Sum of numbers = Average ×No of total terms 

49ý + 30y = 1043 … (II) 

By solving eqn (i) and (ii) 

Difference = 17 2 7 = Āÿ 

⇒  10ý + þ 9 2  10þ + ý 9 = 6 

Ans (c): Two digit numbers = 10ý + y. 

According to the question, 

9ý 2 9y = 6 × 9. 

Thus, the difference between the digit of that 

number = ý 2 y = ą. 

= 165 + 794  

Ans (a): Total average weight of A, B and C = 3 × 55 = 165. 

According to the question, A = C 2 10. B = C 2 5. 6 C 2 10 + C 2 5 + C = 165. 3C = 180. C = 60. 

D9s weight = 60 + 19 = 79. 

Total average of A, B, C and D 

= ąĀ kg 

Ans (b): Since the average of 39 number is 

zero. So maximum 38 number can be 

greater than zero where as 39th number 

should be such that the sum is zero i.e., 

negative. 
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9. Four different numbers are given, out of which 

the average of the first three numbers is four 

times the fourth number and the average of all 

the numbers is 52. What is the average of first 

three numbers? 

öûúøûüûþøõÿùûôûöôöąĂöûõôÿ
øþÿúûþøõÿùûôûöôööûÿöûýøû÷ú
üóöÿöûúüöúúøýÿøþÿúûþøõÿùû
ôûöôöÿöõÿÿ
(a)  65   (b) 70 

(c)  64   (d) 39 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

10. The average of the first 101……. Numbers is 
equal to 102: 

øþÿāĀāøõÿùûôûöôöāĀĂþøýÿöýþ
øõÿþþþþþþþþþþþþÿ
(a)  Natural   (b) Perfect square 

(c)  Even   (d) Prime 

 

 

 

 

 

 

11. The average of the first 1234 …… numbers is 
equal to 1234. 

øþÿāĂăĄøõÿùûôûöôöāĂăĄøýÿöýþ
øõÿþþþþþþþþþþþþÿ
(a)  Natural   (b)   Odd 

(c)  Even   (d)   Prime 

 

 

 

 

 

 
 

 

12. Average of all even numbers between 104 and 

148 is ….. 
āĀĄüõþôāĄĈòú÷öüòóþö÷úý
ûò÷öùó÷öøõÿùûôûöôöÿöõÿÿ
(a)  128   (b)  130 

 (c)  124   (d)  126 

 

 

 
 

13. What is the average of all numbers between 100 

and 200 which are divisible by 13? 

āĀĀüõþôĂĀĀòú÷öüòóþāăÿûúóüô
ö÷úýøõÿùûôûöôöÿöõÿÿ 

(a)  147.5   (b)  145.5 

(c)  143.5   (d)  149.5 

 

 

 

 

 

 

 

 

14. When 2 is subtracted from each of the given n 

numbers, then the sum of the numbers so 

obtained is 102. When 5 is subtracted from 

each of them, then the sum of the numbers so 

obtained is 12. What is the average of the given 

n number?. 

nøõÿùÿþøûöøõøÿýýôûõ÷ö

ÿñòúôüóöýöýþøõÿùûýüþÿāĀĂüõþô

þøûöøõøÿýýôþý÷þÿñþöÿ

öûõôûýüþÿāĂøýÿnøõÿùûôûöôö

øûúÿ

(a)  5.8   (b) 5.4 

(c)  6.6   (d) 6.2 

 

 

 

 

 

 

 

 

 

 

 

 

= A + B + C3 = 4D = ąă 

Ans (c): Let the 4 numbers are A, B, C and D. 

Given, A B C D4 = 52. 

And = A+B+C3 = 4D. A + B + C = 12D. 

On putting the value of eqn. (i) in eqn. (ii) ⇒ 12D+D4 = 52. 13D = 208. D = 16. 

Average of first three numbers 

. 

Ans (c): The average of the first n odd 

numbers in n while the average of the first n 

even numbers is  n + 1 . 
6Average of the first 101 even numbers = 101 + 1 = Āÿā. 

Ans (b):  

Note: The average of the first n odd numbers 

is always n. 

6The average of the first 1234 odd numbers 

be 1234 only. 

Intended average = a + þ2 = 106 + 1462 ⇒ Āāą 

Ans (d): 

 

Average = First term +  Last term2  

= 104 + 1952 = 149.5 

Ans (d): Numbers between 100 to 200 which 

is divisible by 13 are 104, 117 …….. 195. 

When subtraction is done by 2n then sum = 102 When subtraction is done by 5n then sum = 12 6 3n = 102 2 12 n = 30 6 Sum of n number = 102 + 2n = 102 + 60 = 162 6 Intended average = 16230 = Ą.ă 

Ans (b):  
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PROBLEMS BASED ON BASIC INTERPRETATION OF RATIO AND PROPORTION

1. Find the fourth proportional to 7, 13 and 21. 

ćüāăüõþôĂāòúõöûÿöûýóþþöôöû÷þ
ÿöõÿþ

(a)  14    (b) 26 

(c)  39    (d) 21 
 

 
 
 
 
 

2. One cup has juice and water in the ratio 5:2, 

while another cup of the same capacity has them 

in the ratio 7:4, respectively. If contents of both 

the cups (when full) are poured in a vessel, then 

what will be the final ratio of water to juice in the 

vessel? 

þòüÿöù÷óüÿó÷ôöþüõþôþõ÷üąĊĂøûõ
óþþýÿóþñýþöüþöøÿöõöüõøõöò
üÿöù÷óüÿø÷õüòćĊĄøûõóþþýÿóþñýþ
òÿù÷ûõôüõøõöòóöýûýÿûõõùóüþõýþ
øýÿþõ÷üüõþôó÷ôöþóþþôøûúÿ
(a)   52:25   (b)  25:52 

(c)   26:25   (d)  25:26 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

3. If x and y are two numbers having opposite 

signs,            , then what is the value of             

xüõþôyþòûõüøõÿþøýøûýü
ö÷öòöñúÿ÷ñòøÿöõöýüüõþôx2: y2 =16:81 

øýÿ
          üýùñøûúÿ 

(a)    
        (b)        

(c)          (d)    
     

 
 

 

 

 

 
 

4. A sum of Rs.x is divided among A, B, C and D in 

the ratio of 
            . If the difference between the 

shares of B and D is Rs.832, then the value of x 

is: 

ôxúýA,B,CüõþôD÷òø÷õüò
  ü

  ü
  ü

  

óþþýÿøöýòøÿöüòÿùóòöýþBüõþôDû

óúúÿóòú÷öüòóþñüûþóöüôĈăĂþxû
üýùñøûúÿ
(a)  Rs.7,384   (b) Rs.7,488 

(c)  Rs.7,696   (d) Rs.7,592 

 
 

 

 

 

 

 

 

 

 

 

Ans.(c) :7, 13 and 21 

Fourth Proportional = 
   ×   7  = 39 

Ans (b) : 

Juice  Water 

Cup A     5   :   2 

Cup B     7   :   4 

On making capacity equal of both cups A 

and B and adding - 

[5 : 2] × 11 ⟹   55 : 22 

[7 : 4] ×7     ⟹ +49 : 28 

                             104 : 50 

Hence, final ratio of water to juice = 50 : 104 

           = 25 : 52 

Ans (c) :According to the question, 

Let x is  positive and y is negative. 

x2 : y2 = 16 : 81 ⟹ x : y = 4 :  9, x = 4, y =   9   6
 ý  y ý  y=

 ×    ×  ×     ×  =
            7 =

 āăĂĄ  

    

Ans (d) : 

A : B : C : D =
  Ċ

   Ċ 
   Ċ

     

[LCM of (3,5,6,9) = 90] ⟹ A : B : C : D = 30 : 18 : 15 : 10 

8 units → 832 

1 unit → 104 

Now X = 30 + 18 + 15  + 10 ⟹73 unit  → 73 × 104 = ₹ 7592  
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5. A certain amount  is divided among Sunita, Amit 

and Adhiran in the ratio of 2 : 3 : 4. If Adhiran 

gets Rs.14,416 then the total amount is: 

þòúôùøòöøþö÷ÿòöúý÷ýþöüöôüõþô
ýûûþüòöòòúĂĊăĊĄøûõóþþýÿøöý
øÿöüòÿùóòüþñýþöýÿýûûôþāĄĄāĆ
øóþþõöüøýÿüøüöþøþö÷ÿÿöõÿÿ
(a)  Rs.43,248   (b)  Rs.32,436 

(c)  Rs.3,604   (d)  Rs.16,219 

 
 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

6. A sum of money is divided among A, B and C in 

the ratio 2:3:7, respectively. If the share of B is 

Rs.15,000, then what will be the difference in the 

shares of B and C?  

A, BüõþôCþüòöööôþòøþö÷ÿø÷õüò
ĂĊăĊćøûõóþþýÿøöòÿùóüþõýþBûóúú
ôþāąüĀĀĀøûõöÿ BüõþôCüûóúúÿùû
óýòöôôøûúÿ
(a)  Rs.18,000   (b) Rs.20,000 

(c) Rs. 15,000   (d) Rs.50,000 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

7. The product of two positive numbers is 1344 and 

their ratio is 7:12. The smaller of these numbers 

is: 

ûõüüõüü÷õøõÿùûøóòòÿÿóùûôþāăĄĄ
üõþôöûõôûóþþôćĊāĂøýÿýþøõÿùÿ
õôòýÿöõÿþ
(a) 16  (b) 28  (c) 112         (d) 48 

 

 

 

 

 

 

 

 
 

8. A sum of Rs.6,342 is divided amongst A, B, C 

and D in the ratio 3:4:8:6. What is the 

difference between the shares of B and D? 

ôĆăĄĂøþö÷ÿòöúýA,B,CüõþôDøúø÷õüò
ăĊĄĊĈĊĆøûõóþþýÿøöòÿùóòüþñýþøýÿ
BüõþôDóúúÿóòú÷öüòóþñüûþóöü
øûúÿ
(a) Rs.906   (b) Rs.1,510 

(c) Rs.302   (d) Rs.604 

 

 

 

 

 

 

 
 

9. A sum of money is distributed among P, Q, R 

and S in the ratio 3:4:5:6, respectively. If R gets 

Rs.500 more than Q, then the sum of all the 

shares (in Rs) is: 

P,Q,RüõþôSþüòöòòúþòøþö÷ÿø÷õüò
ăĊĄĊąĊĆøûõóþþýÿó÷üòöþòÿùóüþõýþ

QþóööýÿüöÿôąĀĀRòúþ÷öþöÿö÷úý
óúúÿùûýòüøþö÷ÿøûúÿøôüýùøÿù
(a) 8,000   (b)  9,000 

(c) 7,500   (d)  6,000 
) 

 

 

 

 

 

 
 

 

Ratio of the amount of Sunita, Amit and Adhiran     8   8    Let the amount of Sunita, Amit and Adhiran be   ý,  ý and  ý Amount of Adhiran  Rs.   ,    

ý    ,           Total amount   ý   ý   ý  9ý  9 ×      ��.Ăā,ăĂą 

Ans (b) : 

 ý  Rs.   ,     

Ans (b):  

Let share of A, B  and C are  ý,  ý  and  ý 

respectively. 

Given, 

B9s share   5   . ⇒  ý   5   . ⇒ ý  ₹5   . 

According to the question, 

Difference in the share of B and C   ý   ý   ý.   × 5    ₹āÿ,ÿÿÿ. 

 ý ×   ý       ý     ý    

Ans (b): Let smallest number is 7x and 

greater number is 12x. 

According to the question, 

Hence, the smallest number   ý   ×   āć 

     ×   ý   ý   ý      ×  ý  ý  ₹ąÿă 

Ans(d): Let the share of A, B, C and D are in 

the ratio 3x, 4x, 8x and 6x respectively. 

Total sum  ₹     . 

Difference between the shares of B and D 

 

Ans (b):Let the share of P, Q, R and S be 3x, 

4x, 5x and 6x respectively. 

7 R gets ₹ 500 more than Q. 

According to the question, 6 5ý   ý  5  . ý  5  . 

6Sum of all the shares   ý   ý  5ý   ý.    ý    × 5   ⇒ ₹Ĉÿÿÿ. 
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1. A dealer had 120 kg of wheat. A part of it was 

sold by him at 10% gain and the rest at 25% 

gain. Overall, he had a gain of 15%. How much of 

the wheat was sold at 10% gain? 

(a) 80 kg   (b) 60 kg 

(c) 40 kg    (d) 50 kg 

þóòöóööāĂĀüöüöýüûýýýþöþ
öýÿþóýòāĀöóýýûôüúýò
Ăąöóýýûôöûóõõöþüöýþýýÿüöû
āąöóôóõõöþøÿüāĀöóýýÿøû
üöýüóõùóòöýÿ
øaùĈĀüö   øbùĆĀüö
øcùĄĀüö   ødùąĀüö
 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

 
2. Two containers have mixtures of milk and water, 

in the ratio of  3 : 2 and 6 : 5 respectively. In 

what ratio should the contents be mixed so that 

the ratio of milk to water in the final mixture is  

4 : 3? 

ûõöþûùÿăĊĂüõþôĆĊąøûõ

óþýýÿóöÿüõþôþõ÷ûþ

þúþþýûüÿóöÿüõþôþõ÷öû

óþôĄĊăòüþöòúøýþ

óþýýÿòüûõôÿ 

(a) 6 : 13   (b) 9 : 14 

(c) 10 : 11   (d) 5 : 8 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

3. A large container has a 50 litre mixture of juice 

and water is the ratio 3 : 2. In this mixture a  

60 litre juice and water mixture is added, that 

has a juice to water ratio of 2 : 1. After this, 11 

litres of the solution is replaced with pure juice. 

What is the ratio of water to juice in the final 

mixture? 

þóöòöþÿąĀòöôöþüõþô
þõ÷öûóþôăĊĂôþýþòûüÿ
ĆĀòöôöþüõþôþõ÷ûüôòùóõ
ýüöýĂĊāøûõóþýýÿþýþþõùøõü
āāòöûòöúýôöþöûüöõõùóõýþþý
ûüÿþõ÷üõþôôöþóþôøûúÿ 

(a) 37 : 18   (b) 29 : 81 

(c) 4 : 7   (d) 18 : 37 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 

 

 

 
 

Total water =  20 +  20 =  40 liters Total mixture =  50 +  60 =  110 litres According to the question, Water ∶  Juice  =  (110 –  11)  4 11 ∶  (110 –  11)  7 11 + 11 = 99  ×  4 ∶  99 × 7 + 121  =  36 ∶  74 =  Āć ∶  ĂĆ 

Ans.(d) : Total Juice = 30 + 40 = 70 liters 

Ans.(a) :  

10%  25% 

15% 

10%  5% 

2 : 1  

2 : 1  

3 unit = 120 kg   

1 unit = 40 kg   

2 unit = 80kg 

Hence, 80 kg of wheat was sold at 10% gain. 

 ăĆ 

Required =  44 2   427 ×  11 ∶  21 2   205 ×  7  

= 211 ∶   15 =  Āÿ ∶  ĀĀ 

Ans.(c) : According to the question, ĂĄ  
ąĀĀ 

 ăĆ 2 ąĀĀ  
ĂĄ 2 ăĆ 
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4. A container has 30 litres of milk, from which 3 

litres of milk is taken out and replaced with 

water. The process is done three times. What is 

the final ratio of the water and the milk in the 

container? 

þöþÿăĀòöóöÿþýüöýÿ
ýýăòöóöÿøòùóòþõ÷ûöÿ
üöõõùóõýþýþôòÿøõúûþøõ
ôöòùóõýþöþÿþþõ÷üõþô
óöûþýóþôøûúÿ 

(a) 729 : 271   (b) 19 : 81 

(c) 81 : 19   (d) 271 : 729 
 

 
 

 

 

 

 

 

 

 

 

 

5. Two kinds of rice, the first costing Rs.65 per kg 

and the second Rs.95 per kg, are mixed together. 

Find the ratio in which the 2 types are mixed so 

that the mixture costs Rs.83 per kg. 

ûõûòöúööõþýüøþÿûüö

ôþĆąüõþôûõööûýûôþĉąüþûõöò

òùóõýþþúöÿûüûóüö

ôþĈăüøÿĂûþøýþóþýýÿ

òùóûõúøûóþòõöôòôþ 

(a) 19 : 13    

(b) 13 : 19 

(c) 2 : 3    

(d)  3 : 2 
 

 

 

 

 

 

 

 

 

 

 

 

 
 

6. A mixture contains acid and water in the ratio of 

6 : 1. On adding 12 litres of water to the mixture, 

the ratio of acid to water becomes 3 : 2. The 

quantity of water (in lires) in the original mixture 

was: 

þûòöúýĆĊāøûõóþýýÿöôýþõô
þõ÷ûõôöõþýþûüÿāĂòö
þõ÷ûÿüôýþöÿüöôôüõþôĀöû
óþôăĊĂõýþøÿüöôÿûüÿþ
þõ÷öûöøûúÿøòöùÿùĊ 
(a) 6    (b) 4 

(c) 3.5    (d) 5 
 

 

 

 

 

 

 

 

 

 
 

 

 

 

 
 

7. The volume of the water in two tanks, A and B, 

is in the ratio of 6 : 5. The volume of water in 

tank A is increased by 30%. By what 

percentage should the volume of water in tank 

B be increased so that both the tanks have the 

same volume of water? 

A üõþô B òûõþöòýùÿþĀöû
öĆĊąøûõóþýýÿþýþ A þöòýüÿ
þĀöûöăĀöýöýýþýþûõ
þöòýùûôþüûöþõ÷òô
ûüÿ    B    þöòýüÿþĀöûöû
øýþúôþþôöýöòüûõôÿ
(a) 15%   (b)18% 

(c) 30%   (d) 56% 
 

 

 

 

 
 

 

 

 

 

 
 

 

 

 

 

 

 1 =  Quantity taken outInitial quantity  Repeated number =  30  1 2 330 3 

= 30 × 9 × 9 × 9 10 × 10 × 10 =  729 × 3100  =  2187100  

Now, quantity of water =  30.00 –  21.87 =  8.13 Required ratio =  813 ∶  2187 =  āĆĀ ∶  ĆāĈ 

Ans.(d) : Remaining = Initial quantity, 

Price of the first type rice = 65 × P = Rs. 65P Price of the Second type rice = 95 × Q = Rs. 95Q 

= 65P + 95Q = 83 × (P + Q) ⇒ 18P = 12Q ⇒ P:Q = ā ∶ Ă 

 

Ans.(c) : 

 According to the question, 

6ýý + 12 = 32 

Ans.(b) : Acid : water = 6 : 1 = 6x : x 

According to the question,  

12x = 3x + 36 

9x   = 36 

x = 4 

The quantity of water in the original 

mixture x = 4 litre. 

And volume of water in tank B   =  5ý 

6ý × 130100 =  5ý (100 + m)100  

Ans.(d) : 

 Let. the volume of water in Tank A =  6ý  
Again let the tank B invrease by m% then  

According to the question, 

156 = 100 + m 

m = 56% 
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PARTNERSHIP
 

 

1. A, B and C start a business. A invests 33
  % of 

the total capital, B invest 25% of the remaining 

and C, the rest. If the total profit at the end of 

the year is Rs.2,1,9000, then A9s share (in Rs.) is: 
AüB üôCþþö÷ùýþööúûõúþA 

üöýþúùþúýýÿ33
  % ôûýýõöüüBúý

úýüÿĂąôûýýõöüüôC úý÷òøþü
ôöõöüþõýûýüÿüöýþùöóô
ôþĂüāüĉĀĀĀøýÿüA ûóúøûúÿøôþüÿùĊ
(a)  65000    (b) 71000 

(c)  73000   (d) 79000 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

2. Ramesh started a business investing a sum of 

Rs.40,000. Six months later, Kevin joined by 

investing Rs.20,000. If they make a profit of 

Rs.10,000 at the end of the year, how much is 

the share of Kevin? 

ûüüôþĄĀüĀĀĀüøþüôöýþöÿ
þööúúöüþüöþúÿóòùøõüÿû
ôþĂĀüĀĀĀøþüôöýüôüýþöüþûöýüÿ
ôþāĀüĀĀĀùöóôòýúöÿÿûóúøûÿ 

(a)  Rs.3,000   (b)  Rs.4,000 

(c)  Rs.2,500   (d)  Rs.2,000 

 

 

 
 

3. A, B and C invested Rs.40,000 Rs.48,000 and 

Rs.80000 respectively, for a business at the start 

of a year. After six months, for the remaining 

time of the year, A added Rs.4,000,  B added 

Rs.4,000 while C withdrew Rs.4,000 every 

month. If the total profit is Rs.6,72,000, then 

what is C9s share (in Rs.)? 

A, B   üôCþûöýýûþööòÿýýÿþ

ûøÿýýÿöÿø÷õüòôþĄĀüĀĀĀôþĄĈüĀĀĀüô
ôþĈĀĀĀĀøþüôöþúþüöþúÿóòùøõü
õýûúþøþÿöùýýüA ôþĄüĀĀĀýþùöÿ 
øþüôöþöüüüþüóöÿBôþĄüĀĀĀýþùöÿ
øþüôöþöüüC  þûöüöþøôôþĄüĀĀĀ
ýôóùóõöüþüöýþùöóôôþĆüćĂüĀĀĀøûõöÿü
C9ûóúøôþüÿùøûúÿ 
(a) 1,96,750    (b)  1,80,480 

(c)  2,11,200   (d)  2,80,320 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A’s amount invests in business =  300 × 100300     =  100 units  B invests 25% of the remaining amounts   =  200 ×  25100  =  50 units C’s invested amount in business  = 150 units Profit ratio ofA, B and C = 100: 50: 150                                         =  2 ∶   1 ∶  3  A’s share = 2 ×  2,1,90006 = 2 ×  38,500 =  ₹ĆĂÿÿÿ 

Ans (c) : Let total investments in business is 300 units  

A’s investment 40,000 × 6 + 4,000 +  48,000 +  52.000 +  56,000 +  60,000 +  64000 =  ₹ 5,64,000  B’s investment =  48,000 ×  6 +  52,000 + 56,000+ 60,000 +  64,000 +  68,000 +  72,000 =  ₹ 6.60,000  C’s investment —  80,000 ×  6 +  76,000 + 72,000 68,000 + 64,000 + 60,000 + 56,000 =  ₹8,76,000  Proflt ratio between A, B and C  =  5,64,000 ∶  6,60,000 ∶  8, 76,000 =  141 ∶  165 ∶  219 Total =  525 units 

So, C’s share =  6,72,000 ×  219525 =  ₹ ā,ćÿ,Ăāÿ 

Ans.(d) : According to the question.  

 =  (40,000 ×  12) ∶  (20,000 ×  6)  =  4 ∶  1 Share of Kevin in the profit = 15 × 10000 = ₹ āÿÿÿ 

Ans.(d) : Ratio of Ramessh and Kevin in the profit 
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4. The profit earned by a company is to be divided 

among three friends who invested their money in 

the company, in the proportion of 6:9:11. If the 

share of the person who invested the most is 

Rs.2,310, then what is the sum of the money (in 

Rs.) received by the other two friends? 

þ÷ûúôôôóöýýþùöóý÷þü÷ûúýýÿ
øþüôöþúûõóüÿóòüĆĊĉĊāāøûõ
þýýÿøöòÿüûõôþýÿôøþü
ôöþûöû      óúôþĂüăāĀøûõöÿüüõ
õóüÿþóõóĀýýûøôþüÿùýòýþö÷ÿ
øûÿ
(a)  1,890    (b) 3,150 

(c)  5,460   (d) 1,260 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

5. A,B and C together invests Rs.53,000 in a 

business. A invests Rs.5,000 more than B and B 

invests Rs.6,000 more than C. Out of a total 

profit of 31,800, find the share of A. 

A, B   üôC ò÷ûüôüýýþþöÿÿ
ôþąăüĀĀĀøþüôöûõúüþA, B þöôþąüĀĀĀ
ýÿüöÿôüB, C þöôþĆüĀĀĀýÿüöÿô
øþüôöõöüþüöýþùöóüöúăāüĈĀĀýÿAû
óú÷ÿòÿõöôòôþ 
(a)  Rs.13,800   (b)  Rs.12,800 

(c)  Rs.12,500   (d)  Rs.13,500 

  

 

 

 

 

 

 

 

 

 

 

 

 

 
 

6. A sum of Rs.1,50,000 is distributed among three 

persons- A,B and C, so that they receive 20%, 

30% and 50% respectively. A receives the same 

amount from another sum of money which is 

distributed among them so that hey receive 50%, 

30%, and 20%, respectively. Find the total 

amount received from both sums of money, by B. 

AüBüôC òúûóüÿóòôþāüąĀüĀĀĀ 
øöýýò÷üòöòÿùóõýüþúöÿûüÿþ
ø÷õüòĂĀüăĀüôąĀóõöüÿþþA 

úýûüÿóò÷öüò÷üòöòÿùóôüõö
óĀýýÿýýüþþö÷ÿ÷òùóõöüü
ûüÿù÷öüòø÷õüòąĀüăĀüôĂĀøú
óúÿ÷óõöüþûõþö÷ÿÿùÿýýô
óõùóòöüöýþB üûþö÷ÿ÷òÿõöôòôþ
(a)  ₹ 60,000    (b) ₹ 63, 000 

(c)  ₹ 58, 000   (d) ₹ 55,000 

 

 

 

 

 

 

 

 

 
 
 

 

 
 

7. A starts a cement trading business by investing 

Rs 5 lakhs. After 2 months, B joins the 

business by investing Rs.10 lakhs and then 

after 4 months C too joins them by investing 

Rs. 20 laksh. 1 year after since A started the 

business they make Rs.3,50,000 in profit. What 

is B9s share of the profit (Rs. In)? 

A úýąùòôôøþüòýÿþõüûòûüýþÿý
þö÷ùýþööúõöüþĂüöþúÿóòùøõü
ôþāĀùòôý÷þøþüôöýB    øõúüÿ
÷ĀõöüüøõĄüöþúÿóòùøõC õô
ôþĂĀùòôý÷þøþüôöý÷ĀõöüþA
ûøÿý÷þýþööúāûöôÿýýûüÿþ
ôþăüąĀüĀĀĀùöóôòõöüÿþþùöóýýÿøôþûù 
B ûóúøûúÿ 
(a)  75,000    (b) 1,25,000 
(c)  1,50,000    (d)  1,00,000 

 

 

 

 

 

∴  Ratio of III investment  =  Ratio of profit  
Money received by Ist friend =  6ý =  6 ×  210 =  1260  Money received by IInd  friend =  9ý = 9 ×  210                                                         = 1890  Intended sum  =  1260 +  1890 = Ă,ĀĄÿ  

Ans.(b) :  

Let  I    II    III  

 6x         9x    11x  ∴ 11x = 2310  ∴ x = 210  

B’s investment =  ₹(ý +  6000)   And. A’s investment =  (ý +  6000) +  5000  =  ₹(ý +  11,000) Hence, ý + ý + 6000 2 ý +  11000 =  53000  3ý =  53000 —  17000  ý =  12,000  

Hence, share of A  =  23 × 3180053         =  600  ×  23 =  ₹ĀĂ,ćÿÿ 

Ans(a) : Let C’s investment =  ý Rs. 

Investment ratio  

A  :  B   : C  

23000 :  18000   :  12000  

23  :  18   : 12  

A’s share ⟹ 150000 × 20% =  ý × 50%  ý =  ₹ 60, OOO  Amount reccived  by B in both the sum  =  1,50,000 × 30100  + 60,000  ×  30100 = 45000 +  18000 =  ₹ ąĂ,ÿÿÿ 

Ans.(b) :  

Let the total amount of the second type be ₹x.  

According to the question  

Ratio of  shares –  A ∶  B ∶  C =  (5 ×  12) ∶  (10 ×  10)∶  (6 ×  20)  =  3 ∶  5 ∶  6 Profit of B = 53 + 5 + 6 ×  35,000 = 514 × 35,000                   =   Ā,āĄ,ÿÿÿ 

Ans.(b) :  
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PROBLEMS BASED ON FINDING THE 

PRESENT AGE OF PERSON 
 

 

\ 

 

 

 

1. Ritesh is 12 years older than the Mohit. 17 

years ago, Ritesh's age was four times of Mohit's 

age. Mohit's present age (in years) is: 

öýüþùüüöþý÷þóöāĂûòýúýþûüþāć
÷õüÿóòúøûñüöýüþûûòýüüöþýýû
ûò÷þóöõöûúüöúú÷úôþüüöþýýû
þõüóö÷þòûòýøûúø÷õüÿùÿùĊ
(a) 24    (b) 27   

(c) 18            (d) 21 
 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 
 

 

2. The age of a father six years ago was six times 

then the age of his daughter. Three years hence, 

the father will be thrice as old as his daughter. 

What is the present age of the daughter? 

÷þ÷õüÿóòúøûñþþý÷þüûûòý

üÿùûûò÷þóö÷þüöúú÷úôþúûþ

ûöúÿþøõúþý÷þþúýüÿ÷óöúûþ

üöúúûòþöÿùóöüøýÿüÿùûþõüóö÷þò

ûòýøûúÿ

(a) 15 years    

(b) 12 years 

(c) 17 years    

(d) 20 years 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

3. Aruna has a younger sister whose age is 8 years 

less than that of Aruna. If Aruna's sister's age is 

18years, then Aruna's age is: 

öĀöòúþþú÷ÿòþõöþüöûó÷öò

ûòýöĀö÷ûóöĈûòýú÷õøýÿ

öĀöóûôüÿöþöüûûòýāĈøûõöÿü

öĀöóûûòýøûúÿ

(a) 28 years    

(b) 26 years 

(c) 10 years    

(d) 24 years 

 

 

 

 

 

 

 

 

 

 

 

 

 

               

                                                       

 

Ans. (d) : Let the present age of Ritesh be x 

years and of Mohit be y years. 

According to the question,          ...... (i)  

           ...... (ii) 

from eq. (i) and eq. (ii)  

             

          

            

Ans. (b) :Let the present age of father and 

daughter be x and y respcctively. 

According to the question,                

           ...... (i) 

According to the question,                

        ...... (ii) 

On solving cquation (i) and (ii) 

Hence the present age of daughter (y)  

= 12 years. 

                                  
 

Ans. (b) : Given that, 

Age of Aruna'syounger sister = 18 years.   Aruna's younger sister's age is 8 years 

less than Aruna's 
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4. Kohli is younger than Rohit by 3 years. If the 

ages of Kohli and Rohit are in the ratio 7 : 8 how 

old is kholi? 

üÿöÿüüûöþý÷þóöăûòý÷òûüþüÿöÿ
üõþôüûöþýýûûòýćĊĈøûõóþþýýÿ
ýþöÿüÿöÿüûûòýøûûÿ
(a) 18 years   (b) 27 years 

(c) 24 years   (d) 21 years 
 

 

 

 

 

 

 

 

 

 

 

 
 

5. A father is presently 3 times his daughter’s age. 
After 10 years he will be twice as old as her. 

Find the daughter’s present age. 
þþý÷þüûþõüóöþ÷þòûòýþúýüÿùû
ûò÷þüóöÿăüöúúþāĀûöúÿþÿñýý
öûûüöû÷óöûõüüöúúøýÿüüÿùû
þõüóö÷þòûò÷þòÿöõÿþ
(a) 15 years   (b) 5 years 

(c) 20 years   (d) 10 years 
 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

6. Three times the present age of P is 25 years 

more than the present age of Q. After 10 years, 

twice the age of Q will be 18 years less than 

thrice the age of P. Find the present age (in 

years) of Q. 

P ûþõüóö÷þòûòý Q ûþõüóö÷þòûò÷þ

ÿöòýûôăüöúúĂą÷õüÿþöýÿôþāĀ
÷õüÿóòúùøõúü Q ûûòý Pûûõü
üöúúāĈ÷õüÿþú÷õûöÿòúôþ Q û
þõüóö÷þòûò÷þòÿõöôòôø÷õüÿùÿùþ

(a) 21    (b) 16 

(c) 19    (d) 17 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

7. Ramya got married 10 years ago. Now her age is     times her age at the time of marriage. Her 

daughter’s age is one – tenth of her present age. 

Find the daughter’s present age? 

ûôòöòúāĀ÷õüÿóòúøûýüĀôõöýþýþ
ùüóöýöûýûòýýüĀýýûüóöýýþ

ûò÷þüóöÿ    üöúúþöûó÷öòüÿùûûòý

öûýþõüóö÷þòûòýÿóýýÿþûþøýÿü
üÿùûþõüóö÷þòûò÷þòÿöõÿÿ
(a) 8 years   (b) 6 years 

(c) 20 years   (d) 12 years 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

                

                 

Ans. (d) : Let the age of Kohli and Rohit be 

7x and 8x years respectively. 

According to the question 

Hence the age of Kohli 

                                          

                                        
 

Ans. (d) : 

then the present age of father = 3x years 

According to the question, 

After 10 years, 

         

                                                                                                   

                  

        

            
 

Ans. (d) : Let the prescnt age of P be x years 

andthe present age ofQ be y years. 

According to the question, 

        …. (i) 

        …. (ii) 

on solving equation (i) and (ii) -  

6x - 2y = 50....(on multiplying 2 in equation (i) 

Putting thevalue of x in equation (i) – 

or 

Hence the present age of Q is 17 years 

                                             

             
                                                             

Ans. (b) :                                 

According to the question, 

                                            . 
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1. The price of a TV has been reduced by 20%. in 

order to restore the original price,the new price 

must be increased by: 

øþö÷ùòÿöòõüûó÷ùĂĀú÷õòÿùóòüþñýþ

öôÿó÷ù÷òúòøöüòÿüñýòó÷ù÷òøûûñ

ôþþôóòüýþüûõüôÿ

(a)  20%   (b)   28% 

(c)  31%   (d)   25% 
 

 

 

 

 

 

 

 

 
 

 
 

2. 91% of A is 39% of B, and B is x% of A, then the 

value of x is: 

AûĉāBûăĉòúôüôüõþôBøûóýAûxü

øýÿxûüýùñÿ

(a)  
       (b)  

     

(c)  
       (d)  

     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. The value of 17 
  % of 3 

  % of 33 
   of 7200 is: 

ćĂĀĀÿ    ÿ   ÿ    üýùñÿöõÿÿ

(a)   7.65    

(b)   11.68 

(c)   13.65    

(d)    9.65 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

4. A number is first increased by 20% and then 

reduced by 15%. If the final value is 2040, then 

what is the initial value of the number? 

þòøõøþÿÿĂĀöýÿöòÿùóòüøûúüāą

ú÷õòÿùóüþõýþüõþôþýüýùñĂĀĄĀøýÿü

öýþøõøû÷ûôóüýùñøûúÿ

(a)  2100   (b)  1800 

(c)   2000   (d)  1900 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6 % increase = 2080 × 100 = 25% 

Ans (d): Let the original price of TV = ₹ 100. 

6On reducing 20% price = ₹ 80. 

According to the question, 

To restore the original price will be 

increased by ₹ 20. 

AB = 3991 , AB = 37 

B = x% �� þ 7 = ý100 × 3 

700 = 3ý 

ý = 7003  

Ans (b): 91% of A = 39%of B. 

17 12% of 3 14% of 33 13% of 7200 

= 740 × 13400 × 13 × 7200 

= 7 × 13 × 320  27320 = 13.65 

Ans (c): 

ý × 120100 × 85100 = 2040 

ý × 65 × 1720 = 2040 

ý × 65 × 120 = 120 ý100 = 20 ý = 2000 

Ans (c): Let initial number = x. 

According to the question, 
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PROBLEMS BASED ON SPEED, 

TIME & DISTANCE 
 
 

1. With an average speed of 60 km/h, a train 

reaches its destination on time. If it goes with 

an average speed of 45 km/h, it is late by 20 

minutes. The distance covered by the train is  

-------. 

ôûöôöòöÿüøòúĆĀþúüûÿýýÿüþûüÿ
ôöòöúüõûýýÿöùò÷ÿö÷öþõýþôûöôöòöÿ
üøòúĄąþúüûÿýýÿøôûõöÿüĂĀ÷ôöúÿþ
þöüþüöúôþøýÿûüÿÿöòúôóûôÿöõÿÿ

 (a)   30 km   (b)   40 km 

(c)   50 km   (d)   60km 

 
 

 

 

 

 

 

 

 

 

2. Ram is travelling at a speed of 72 km per hour 

while Shyam is travelling at a speed of 90 km 

per hour. What is the difference in their speeds 

(in metres per second)? 

ûöôüøòúćĂþúüûÿýýÿóòøòÿüôòöô
üøòúĉĀþúüûÿýýÿóòøòþõöüþöûüÿùû
üûÿúÿùÿóýýòöôôóúöýÿúòööÿÿöõÿÿ

  (a)   5   (b)   4 

 (c)   6    (d)   7 

 
 

 

 

 
 

 

 

3. Two trains are running on parallel tracks in the 

same direction at the speed of 80 km/h, and 90 

km/h respectively. The trains crossed each 

other in 3 minutes. If the length of one train is 

230 m, then what is the length (in m) of the 

other train. 

öûõüûüÿÿþþüûý÷ôüÿĈĀþúÿüø
üõþôĉĀþúÿüøüûÿýýÿö÷Āòöúóö÷þüÿ
öòúúþûõúþă÷ôöúÿùÿûüÿÿþ
þû÷õøòöûþÿöýýøôûõúþþûüÿûĀô
ĂăĀúøýÿüüõøõöûüÿûĀôøúòööÿù
øûÿ

 (a)   270   (b)    250 

 (c)   230   (d)    300 

 

 

 

 

 

 

 

 

 
 

4. A person travels 5x distance at a speed of 5 

km/h, x distance at a speed of 5 km/h, and 4x 

distance at a speed of 6 km/h, and takes a total 

of 112 minutes. What is the total distance (in 

km) travelled by the person? 

þõóüąx óûý÷þą kmÿh üûÿýýûôü x óûý÷þ
ą kmÿh      üûÿýýûôüĄx      óûý÷þĆ kmÿh  

üûÿýýûôóòøòþõöüüøüöýþôāāĂ÷ôöúÿ÷
øüýýòøÿöþþõöüþøýÿöýþõóüóòøýþ
øüöýþóûôøþúüÿùøûÿ

 (a)   8    (b)   10 

 (c)   9    (d)   12 

 
 

 

 

 

 

 
 

                                  

Ans.(d) : Let the distance covered by the 

train = x km,  according to the question 

           

                                   

Ans.(a) : According to the question, 

Speed of shyam (in m/s) – Speed of Ram 

(in m/s) 
                                                                                                                    

Ans.(b) :  

                                                                                                    

Ans.(a) : Let II nd train length is x m 
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5. A journey of 900 km is completed in 11 h. If 

two-fifth of the journey is completed at the 

speed of 60 km/h, at what speed (in km/h) is 

the remaining journey completed? 

ĉĀĀþúóòĀôāāüøüõûýýÿ÷÷õû÷öþõýþ
óòĀýýûþýýÿöûõüóúúóûý÷þ
ĆĀþúÿüøüûÿýýÿÿöýþöÿüúþøþóûý÷þ
øýþüûÿýýÿøþúÿüøüõûýýÿùóòĀôøôöò
üûõüôÿ

 (a)   180   (b) 72 

 (c)   84   (d) 900 

 
 

 

 

 

 

 

 

 
 

6. A covered a distance of 240 km at a certain 

speed. Had his speed been 8 km/h less, then 

the time taken would have been one hour more 

for covering the same distance. How much time 

(in hours) will he take to cover a distance of 

480km at his original speed? 

AþúôùøòöüûÿýýÿĂĄĀþúóûý÷þÿöýþýþ
öûûýüûÿôüøòúĈþúú÷õûöÿ
öýýýþöÿüöüþóûý÷þÿöòÿþüøüõûô
öýÿüöÿöýýòúôþöûüþúýöôÿ
üûÿýýÿĄĈĀþúóûý÷þÿöòÿøûüõûô
øüøüõûúÿùÿùøüýýòøÿöþôÿ

 (a)   9    (b)   11 

 (c)   10   (d)    8 
 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

7. While covering a distance of 51 km, a man 

noticed that after walking for one hour and 40 

minutes, the distance covered by him was 5/12 

of the remaining distance. What was his speed? 

ąāþúóûóòĀýýÿþüøüõûôĄĀ÷ôöúÿþ
õöýþøõúüþûüÿöýýûýþóûôúþøþ
óûýýÿąÿāĂÿöùó÷þÿûýýþöüþøýÿ
öû÷öòüûÿôøûúÿ

 (a)  7 km/h   (b) 10 km/h 

 (c)  8 km/h   (d)  9 km/h 
 

 

 

 

 

 

 

 

 

 

 

 

 

8. A train covers a distance of 275 km in 2
   Hours 

with a uniform speed. The time taken to cover a 

distance of 440 km with the same speed is: 

þûüÿĂćąþúóûý÷þ2   üøüõûýýÿöûöú

üûÿýýÿÿöòþõýþöüþüûÿýýÿĄĄĀþú

óûý÷þÿöòÿøüòúôüõûôÿöõÿĊ

 (a)   4
   hours   (b) 6 hours 

 (c)   5 hours   (d) 4 hours 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

                                                                                                                                                                                             

Ans.(a) :  

900 km journey complted in 11 hours 

Ans.(c) : Let original speed be x km/h. 

D = 
       ×            (            

240 = 
       ×             = 240 × 8.                                                                                                                     

Time taken to cover 480 km at original 

speed        hours = 10 hours 

    (      )                                                 

Ans.(d) : Let man9s speed = x km / h 

Covered distance in 5/3 h or 1 hour 40 

minute = 
    km 

According to the question, 

Hence, man9s speed = 9km/h 

                             

                               

                                         

Ans.(d) : Speed = 
              

Now, according to the question, 

Hence time taken to cover a distance of 440 

km will be 4 hours. 
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SIMPLE PROBLEMS RELATED TO TRAIN 
 

 
 

 

1. A train has to cover a distance of 900 km in 25 

hours. What should be it9s average speed in 
meters/second? 

þûüÿĉĀĀþúóûý÷þĂąüøüõûýýÿÿöòÿ
üûõüôþöþûôûöôöüûÿôøûúûöÿòÿ
üûõüôúòöüÿóúöýüÿÿ
(a) 20     (b) 10 

(c) 18     (d) 36 

 

 

 

 

 

 

 
 

2. A train running with a speed of 45 km/hr, 

crosses a telephone pole. If the length of train is 

810meters, then what is the time taken (in 

seconds) by the train to cross the pole? 

Ąąþúÿüøüûÿýýÿûüôþûüÿüþ
þö÷ùüóõÿôóý÷þÿöòþõýþûüÿûô
ĈāĀúòöüøÿüÿôóý÷þÿöòÿûüÿøüòúôüõûô
øóúöýÿùÿùøûÿ
(a) 66    (b) 64.8 

(c) 68     (d) 44 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. A 600 meters long train can cross a 1200 meters 

long platform in36 seconds. In how much time 

(in seconds) can it cross a bridge 2200 meters 

long? 

ĆĀĀúòöüøþûüÿāĂĀĀúòöü
õ÷öüü÷ö÷òăĆóúöýÿùÿÿöòúôþĂĂĀĀúòöü
øþóöùý÷þøûüõûýýÿøóúöýÿùÿù
ÿöòÿøýõôÿ
(a) 56    (b) 52 

(c) 48     (d) 44 

 

 

 

 

 

 

 

 

 

 

 

 
 

4. A train that is running at the speed of 72 km/h 

crosses an electric pole in 36 seconds. The length 

of the train (in meters) is: 

üøòúćĂþúüûÿýýÿûüôûüÿăĆóúöýÿùÿ
ôûÿôóý÷þÿöòþõýþøÿûüÿûôøûúÿ
øúòööÿùĊ
(a) 360m   (b) 460m 

(c) 720m   (d) 620m 
 

 

 

 

 

 

 

 

 

Time = 25 hrs Speed = 90025 = 36 km/hr 
Speed (m/sec)  = 36 × 518 = 10m/sec 

Ans (b): Distance =  900km 

⇒ Time = 810 × 225 = 162025  

Ans (b): Speed of train running  = 45 km/hr. = 45 × 518 = 252 m/sec 

Length of train = 810 meters. 

Time = ? 

∴ Speed = DistanceTime  

⇒ Time =  64.8 sec 

Hence, the train will take 64.8 second to 

cross the pole. 

= 600 + 120036 = 180036 = 1002  

Time taken by the train to cross the bridge =  þ + hV   

Ans (a): Let the length of bridge, platform and 

train are h, L and l respectively and speed of 

train is V. 

Speed of train = �+LT . 

= 50 m/sec 

According to the question, 

= 600+220050 = 280050 = 56 seconds 

= 72 × 518 = 20 m/sec 
6 Speed = Distancetime  

20 = þ36 ⟹ þ = 720 meters 

Ans (c): Speed of train = 72 km/hr. 

Time taken to cross the electric pole = 36 sec 

Length of train = l meters. 
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5. A train of length 350m crosses a bridge of length 

250 m in 20 seconds. What is the speed of the 

train (in/km/h)? 

ăąĀúøþûüÿĂąĀúøþóöùý÷þ
ĂĀóúöýÿùÿÿöòþõýþøÿûüÿûüûÿô
øþúÿüøùøûúÿ
(a) 95     (b) 88 

(c) 72     (d) 108 

 

 

 

 

 

 

 

 
 

6. A train 150m long is running at 90km/h. how 

long (in seconds) will it take to clear a platform 

that is 300 m long? 

āąĀúøþþûüÿüøòúĉĀþúüûÿýýÿ
ûüþõýþăĀĀúøþõ÷öüü÷ö÷òÿöòÿ
øûüõûôøóúöýÿùÿùøüòúôÿ
(a) 50    (b) 12 

(c) 6     (d) 18 

 

 

 

 

 

 

 

 

 

 

 

7. The distance covered by a train in (x+1) hours is 

(  + 1)km. what is the speed of the train? 

þûüÿøxûāùüøüõûýýÿø  ûāùþúþóûý÷þ
ÿöòúôþøÿüûüÿûüûÿôøûúÿ 

(a)(  + 1)  /   (b)(  -x+1)km/h 

(c)( 2+x+1)km/h  (d)(x+1)km/h 

 

 

 

 

 

 

 

 

 

 

8. A jet ski goes upstream at a speed of 48 km/hr 

and comes back the same distance at 80 km/hr. 

find the average speed (in km/hr) for the total 

journey? 

þò÷ÿĄĈþúÿüøüûÿýýÿüüÿüõöòþÿ
ôûöüþóûý÷þüøòúĈĀþúüûÿýýÿ
ýôñôþüöýþùóòĀýýõÿöúôûöôöüûÿý÷þ
øþúÿüøüÿùÿõüøýÿ
(a) 64    (b) 62 

(c) 66     (d) 60 

 

 

 

 

 

9. A man walking at a rate of 4 km/h crossed a 

tunnel in 18 minutes. What is the length of the 

tunnel in meters? 

üøòúĄþúüûÿýýÿõöýýôûõþûüāĈ
÷ôöúÿùÿþ÷ûúÿùóö÷þ÷òòÿöýþöüþ
øÿ÷ûúÿùóö÷þüûôøûúøúòöüÿùÿùÿ
(a) 1200   (b) 1600 

(c) 1400    (d) 1800 

 

 

 

 

 

 

 

 

 

 

 

 
10. A 240-m long train crosses a 360-m long tunnel 

in 30 seconds. What is the speed on the train 

(in km/h) 

ĂĄĀúøþûüÿăĆĀúøþ
÷ûúÿùóö÷þ÷òăĀóúöýÿùÿÿöòþõýþøÿ
ûüÿûüûÿôøûúøþúÿüøüÿù
(a) 72    (b) 43.2 

(c) 60    (d) 28.8 

 

 

 

 

 

 

 

 

6 Speed = 350 + 25020 = 30m/s 
= 30 × 185  km/hr = 108 km/hr 

Ans (d): Length of train = 350 m. 

Length of bridge = 250 m 

Time = 20 seconds 

6 Time taken for the train to cross the platform  = Total distance Speed  

= 150m + 300m25 m/s = 45025 = 18 seconds 

Ans (b): Speed of train = 90 km/hr. = 90×518 m/sec = 25 m/sec 

Speed of train = DistanceTime  

= (ý + 1)(ý + 1)  

= (ý + 1)(ý2 2 ý + 1)ý + 1  

Ans (b): 

⇒ (ý2 2 ý + 1) Km/hr 

= 2 × 48 × 80128 = 60 km/hr Ans (b): Average speed = 2×yý+y = 2×48×80(48+80)  

 

Speed = DistanceTime  

⇒ 4 × 518 = ý18 × 60 

⇒ 2018 = ý1080 ⇒ 18ý = 21600 ⇒ ý = 1200 m 

Ans (a): Let the distance be x. 

∴The length of the tunnel is 1200m 

Speed of train= The sum of train and tunnel lengthTime taken to cross tunnel  

Speed of train = 240 + 36030 = 60030 = 20 m/s 

Now, speed of train = 20 × 185 = 72 km/h 

Ans (a):  


